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For questions 1-6, complete the second sentence so that it has a similar meaning to
the first sentence, using the word given.
Do not change the word given.

You must use between three and six words, including the word given.

1) She had four daughters. The youngest of them was her favourite.
APPLE

She had four daughters the youngest . her eye.

2) It was raining heavily, so | didn't go to school at all.

FOR

If it rain, | would have gone to school.

3) Everybody knows that the president died in a plane crash.
KNOWLEDGE

It is_ the president died in a plane crash.

4) The first pilot refused to endanger the safety of the passengers of the plane.
PUT

The first pilot refused to the safety of the passengers

of the plane.

5) | wish | had studied more for the exam.
LIKED

I more for the exam.

6) She informed the police because she assumed he was guilty of rape.
ASSUMPTION

She informed the police he was guilty of rape.




